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SECTION—A

."An_swgi‘. all questions

Theil entropy index is a measure of

absolute poverty

relative poverty

chronic poverty

multidimensional poverty -

In classical development theory, if capitalists spend a high share of profit on personal
consumption, it will be considered to be

a,
b.

productive expenditure as it maximizes the uiility of capitalists
productive expenditure as it acts as an incentive for further expansion
nnproductive expendituré as it diverts funds from capital accumulation

unproductive expendituré as it diverts funds. from social security provisioning

Which country in the South. Asian Association for Regional Cooperation (SAARC) has
the highest per capita income currently?

a
b.

BB

India
Pakistan
Maldives
Bhutan

The: official unemployment raté in rich countries tends to be higher than that in the

A,

b.

poorer countries. This phenomenon is-explained by

the downward rigidity of wages in rich countries
higher efficiency of labour market in poorer countries
the presence of substantial social safety nets in the rich countries

both a. and c¢. above

The Gini ratio measuring income ineguatity is.0-30 for the rural sector and 0-40 for the
urban. sector. If the rural sector-accommodates S0 percent of the country’s population,
the combined Gini ratio for the entire country:

a.
b.

is between 0-30 and (040
is higher than 0-40
is 0-35

cannot be determined

3 [ P.T.O.
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Non-enforcement of private property rights over productive resources may create more
employment and income opportunities but may lead to mon-optimal use of the
rescurces. In the literature, this idea is referred to as the problem of

a. adversc selection
b. tragedy of commons
¢, knife-edge instability
d. external diseconomies.
' 1
A consumer has a utility function U = x, + x and an income of % 50. The price of good

%, is $ 1 and the price of good x, falls from $ 2 to $ 1. The compensating variation {CV).

and. equivdlent variation: (EV) for this price change can best. be described as

a, CV » EV
b. EV >CV
c. EV=CV
d. CV.=EV/2

A weak preference relation R-is called quasi—tra'n'siti{re iff the strict preference relation
P is transitive. Four consumers ¢, b, ¢ and d have preference relations over a triple
x, y, z provided below. Which consumer’s preference -relation satisfies quasi-
transitivity?

a. xPy and yPz and zPx

b, xly and ylz and xPz

c.. xPyand yPz and xIz

d. yPx and zPy and xPz

A consumer’s utility function is given by U =max {x;, X,}+min (x;, x,). If the price of

comiodity 1 is $'4 and the price of commodity 2 is $ 8 and the consumer’s income is
$-40, the consurper will attain eguilibrium at

a. (5 0
b. (10, 0)
c. (4, 3)
d. (2,4

The production function: of a monopolist firm: is. given by Q=10L ~0-5L%, where L is
labour input and Q@ is output. If the demand curve is' P{Q) = 50~ 0.50Q, what is the
marginal revenue prodiict of labour curve? '

a. 500+ 150L - 15L%

b: 50-0Q

c. 500-150L+15L% - 0-5L%
d

None of the above

+



il. Consider a pure exchange economy with two consumers (A and B) and two goods
(x and y). If the fotal stock of x and yis 4 units each and each consumer has a utility
function U= x; +y;, 1=-A, B, the set.of Pareto optimal points w111 be

a. the diagonal of the Edgeworth box

b. the eniire Edgeworth box.

e. the horizontal axis of ‘the Edgeworth box
d. - the vertical axis of the Edgeworth box

12. A risk neutral person who maximizes expected utitity weuld rank two contracts that
respectively offer A = {90 150} and B= {150, 30} equally if the respective probabilities
py and p, were

a. ‘equal
1 2
b, o =, e
¥ 3 by 3
[od . = ._2. Dn = u}_
pl 3: 2 3

d. none of the above

13. Betwcen 2002 and 2003, Afghanistan introduced 2 nmew currency, the new afghani, «t
an exchange rate of 43 afghani to the US dollar. This new’ afghani replaced its tweo
previous versions at two different rates—the currency issued by the government of
President Burhanuddin Rabbani was replaced at the rate of 1000 to the new afghani,
whereas the currency issuied by the government of Abdul Rashid Dosfiim was replaced
at the rate of 2000 to the new afghani. The central bank issued ‘instructions that the
new currency should be used to make all domestic transactions, replacing all other
currencies in use. All existing contracts were to be rewritten in terms of the new afghani
at the specified exchange rates. Assuming that the government was Suceessful in
carrying out this exercise, what will be the impact of this change on output and
employment?’

a.  Qutput and employment will fall, since féwer currencies are in circulation

bh.  Qutput and employment will rise, since pmducmon will benefit from a stable
CUITGCY

c.  Output and employment will remain unchanged, sifice. the contracts are rewritten
in terms of new currency

d. Cannot be defenpin;:d from the given information

14. Suppose the central ‘bank of Pakistan conducts open market operations which lead to
an expansion of its monetary base: For this to actually result in an iticrease it money
supply, one of the assumptions must be

a. full employment level of output:
b, a stable demand function for money
c. a stable production function

d. 2 low rafe of inflation

/10-A | 5 - [ P.T.O.



The next three questions are based on the following information :

Consider an economy where the aggregaté output is produced by using two factors K and L,

using a production function ¥ =K el At every point of time, both factors are fully emnployed.

A constant proportion s of total output is saved and automaticaily invested at each point in

time, leading to augmentation of capital stock. However, capital is also subject to depreciation

at a rate 8. Labour force grows at a constant rate.n.

5.

16.

17.

J10-A

The steady-state level of per capita output is given by

ENg
C.
' \r+ 3,

d. cannot be determined from the given information

The optimal savings rate which will maximize the per capita consumption level at the
steady state is given by :

a o
b. n+d

c.  on+é)

d. ( =5 ] l-ox
. \n+éd

With o= é, the rate of population growth = 1 peércent and depreciation rate of

capital = 5 percent; how long will the economy take to- get to halfway of its balanced
growth path values within a Solow framework?

a. 155 years
b. 175 years
¢. 215 years
d. 255 years



18. Suppose the following bilateral spot exchange rates are being quoted for the Afghan
Afghani [AFN), Bangladeshi Taka (BDT) and Maldivian Rufiyaa (MVR) :

BDT/MVR = 526
AFN/MVR = 4-54
AFN/BDT = 0-88

If you start with 100 MVR, the most you c¢ould end up with {in MVR) in a siigle round of
trilateral arbitrage would be

a. 9333
b. 9808
c. 10196
d. 10267

19. Consider the following system of equations :
Xy X =X =1
- X tXy =%
The ahove system of linear equations is
4. ' inconsistent
b. consistent with infinitely many solutions
¢. consistent with a unique solution
d

nomne. of the above

20. The rank of the matrix
'5-x 2 1
2 i-x 0 |
1 ) 1—x J

for x =61is
a. H
b, 2
C 3
d 0

21. If the function y=AK® for A> 0 and O<a< 1is defined for all K, then y is
strictly convex
strictly concave

guasi-convex

o T op

quasi-concave.

J10-A 7 | | P.T.0.
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22. The real eigenvalues of [ 3 OJ are

a. 2 and 3
¢c.. 2and -3

d —~2and 3

73. For what values of x are the two vectors A={x, -x -8, x, ¥} and B=(x, 1, -2, )
orthogonal?

A -2 and 4
bh. 2and -4
e. —-2and -4

d. 2and4

24. The inflexion point for fix}=x% at x=01is

a ]
b.. 1
C -1

d. It does not have an inflexion point

25, If a random variable X has a continuous distribution with the probability function
1

fin= { 8

0  otherwise

x fTor O<x<4

the valite of t such that Pr (X >¢) -=,‘.?1,' is.

a. 8

b, V3
. 243
d. 443

/10-A _ 8



26.

7.

28,

29,

Which of the following assumptions shows the consistency, unbiasedness and efficiency
of the OLS estimator?

i)
{13)
(1)

(iv)

£ 6 oop

Efu)=0

var (u,) = 0

cov fuy, uy_;}=0 v j
~ N[0, 5%

(i) and (iv) only
{i} and {iii) only

{i}, (i3) and (iti) only
(i), (i), (i) and (iv)

What would be the consequences for the OLS estimator if heteroscedasticity is present
in a regression medel but ignored?

a.
b,

.

it will be biased

It will be inconsistent

It will be mnefficient
All of the above

What will be the propert:tes of the OLS estimator m the presence of multlcolllncanty’r"’

a
b,

poo

It will be conmstent unblased and efﬁment
It will be consistent and unbiased but not afficient
It will be consistent but not unbiased

It will not be consistent

Under the null hypothems of a Bera-Jarque test, the distdbution has

?‘PP‘E“

30.

J10-A

zero skewness and ZETO kurtosxs

zero skewness and kurtosis of three .

skewness of one and zero kurtosis

skewness of one and kuirtosis of three

‘Which one of the follomng wouid be a plau31ble response o a. fmdmg of residual

non- normahty? i

a
b.

e

&

“Fo.use a logarithmic funcnonal form instead of a linear one

To add lags of the variables on the right-hand side of the regression model
To estimate the model in first differenced form

To rerhove any large ontiers from the data

9 [P:T.0.



31.

32.

33.

34.
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‘SECTION—B
Answer any four questions

Each guestion carries 10 marks

A universal basic income grant for ail citizens is being proposed as an effective
welfare measure for many developing countries. Do you agree with this view?
Substantiate your argument.:

Globalization has been unfair to the developed countries as it has led to significant
deindustrialization in the Global North. Comment.

Suppos¢ a production function -is given by y= fIK, L) = ({)}? + K}, and that the

price of capital {w,) is 2 and the price of labour (w,) is 3, and the firm pays a license

fee of 10.

(a) "What are the guantities of labour and capital th’at;’x’vill"r’ninimjze the cost of
producing any given output?

(b) What will be the minimum cost of producing y units of cutput?

{c) Find the marginal cost of production, the average total.cost and the average
* variable cost and the average fixed cost.

A monopoly -insurarice company provides accident insurance to two types of

customers-—low-risk customers, for whom the probability of an accident is 0-25

and hlgh -risk customers, for whom the probability of an accident is 0°5. There isan
equal ninmber of both types of customers. Without insurance, each customer’s
wealth is 16 if there is no accidént, but 0 if there is an dccident. Customers’ von
Neumann-Morgenstern, utility of wealth is u{®) = +w. The insurance company
cannot identify the type of customer when the customer applies for an insurance
contract, Suppose the insurance company offers two contracts—the first contract
offers a payout of 8 in case there is an accident, and requires customers to pay a
premium .of 7. The second contract offers a payout of 16 in case there is an
accident, but requires customers to pay a premium of 10. y
(a) Which of these contracts will be bought by the low-risk customers and which
will be bought by high-risk customers?
(b) Will the insurance company manage to screen its customers with. these
contracts?
{c) Calculatethe insurance company’s expected profit if it offers these contracts.

Consider an economy with several physical goods and uncertainty over states of
nature. Let the equilibriim be arrived at in two distinct stages—in the first stage
{before the state of nature is revealed) all contingeént markets ate open for trade

‘and contracts for all contingent commodities are traded in these markets; in the
.second stage the state of nature is revealed, confracts are executed and
-consumption takes place,

(a) Construct a simple model’ and examine the welfa:e implications of its
outcome. S

10



(b) Show how the presence of a market for financial securities might increase the
possibilities of an efficient outcome. Explain the economic intuition of the
above result,

36. Why do Keynesian theories not make strong predictions about the impact of
fluctuations in aggregate demand on variables like unemployment, real wage and
markup? -

37. (a} ‘Suppose we are given a simple panel data regression model
Yy =W +dxy Ty

where W, is the time constant unobserved effect and g, is the idiosyncratic
error, Briefly explain the crucial assumption on u, that allows us to
distinguish between fixed effect and random effect methods of estimation. Is
this assumption testable? 5]

(b) Distinguish between strict and sequential exogeneity. Sheow that strict
exogeneity cammot be satisfied when we have lagged values of deperident
variables as regressors. 5

38. Consider the following ADL (1, 1) model :
Y =0+ Yis..q +ﬁ0_xt. + ﬁ}x;wl + &

{a} Explain under what conditions the following models can be obtained from the
ADL (1, 1) model described -above : 4

) Static regression
{iif Autoregressive process of order 1 {i.e., AR{(1})
(iii} Equation in first difference
(iv) TFirst-order distributed lag model

(b}  Write the model as an error correction model, and provide an economic
mterpretation of it 3

(c} Suppose that the variables y, and x, are both I{l). Discuss how the error
correction model is telated to the concept of cointegration. 3

/10-A ‘11 [P.T.0.
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SPACE FOR ROUGH WORK
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